




rd_2img_sup
global ephdata attdata
global eph_start_time first_line_time avg_line_rate dtl dte
global x0 y0 z0 det_pitch PD

ephdata=zeros(13,1011,2);
attdata=zeros(15,1011,2);
eph_start_time=zeros(2,1);
first_line_time=zeros(2,1);
avg_line_rate=zeros(2,1);
dtl=zeros(2,1);
dte=zeros(2,1);
x0=zeros(2,1);
y0=zeros(2,1);
z0=zeros(2,1);
PD=zeros(2,1);
det_pitch=zeros(2,1);

fid=fopen('colo1\\colo1.eph','rt');
for i=1:10
  lin=fgets(fid);
  end
temp=fscanf(fid,'( %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, 
%f),\n',[13,1011]);
ephdata(:,:,1)=temp;
fclose(fid);

fid=fopen('colo2\\colo2.eph','rt');
for i=1:10
  lin=fgets(fid);
  end
temp=fscanf(fid,'( %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, 
%f),\n',[13,969]);
ephdata(:,1:969,2)=temp;
fclose(fid);

fid=fopen('colo1\\colo1.att','rt');
for i=1:10
  lin=fgets(fid);
  end
temp=fscanf(fid,'( %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, 
%f),\n',[15,1011]);
attdata(:,:,1)=temp;
fclose(fid);

fid=fopen('colo2\\colo2.att','rt');
for i=1:10
  lin=fgets(fid);
  end
temp=fscanf(fid,'( %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, %f, 
%f),\n',[15,969]);
attdata(:,1:969,2)=temp;
fclose(fid);

% ok now some constants read (manually) from support file headers
% make 2 element arrays to hold values for image 1 & image 2

eph_start_time=[9.545140;55.144961]; % seconds
first_line_time=[16.876479;62.178479]; % seconds
avg_line_rate=[24000.0;24000.0]; % Hz
dtl=[1/avg_line_rate(1);1/avg_line_rate(2)]; % seconds
dte=[0.02;0.02];
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x0= [   0.053720;0.053720];
y0= [ 140.711930;140.711930];
z0= [7949.165;7949.165];
PD=z0;
det_pitch= [0.008000;0.008000];
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